g!l,ilﬂ J

E%4]
- geries GEFH1 2 %: B SET~2
- : ) [ p - j
i LT TR 5942

poll e e S

oooogee | HE-98 W 399 ford |

Candidates must write the Q.P.. Code

= (mjmmmmuJIIIIM!llJI!IIMWUIﬂ||ﬂl|||H”|¢|l|l||H|||N|I|||||ll|||\IHII\ | s te P Pegeidl o e oeok. 2
‘ POLITICAL SCIENCE , :
Gaff @ : 3 9% o - S7fErHAH 3% : 80
Time allowed : 3 hours ' Al kLT Maximum Marks : 80
¢ | NOTE ;

() FrEISER T 38 AT A gfa ym 23 7 |
Please check that this question paper contains 23 prini;ed pages. .

(i) FH-9% & ot g1y bl ST U MU w9 g i whendf s-gfee % gEgE W
ford | b '

Q.P. Code given on the ﬁght hand side of the question paper should be written
on the title page of the answer-book by the candidate.

(i) e Sfft o0 f o g o F B0 E |

Please check that this question pépér contains 30 questions.

Please write down the‘ serial nﬁmber of the question in the

) ;;: Wer-book before attempting it.
T

. . tion
. ‘ . tion paper. The ques
I)apernute time has been allotted to read this q8?185 am. to 10.30 am., the

Wwil] B . m 1

it be ted at 10.15 a.m. Fro : er on the
a:i:;‘:iwin rea%li‘};lr;b(;luestiin petior only and will noﬁ wr1t§ any answ

S014p, 2 during this period. ‘ :

P.T.O.
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1 Instr™" :
O ihe f;zowing . SoreRily and g them, :
B This question PP Contains 30 questions. Aqy g, e
(”).) This quesi" pape’égls e info five secions Section 4, cBonélesozyE
(it . A — Questions no. 1 to 12 i Sl St
tion == | ‘are Muly; ]
(iii) f;:t&ftf;l& carrying 1 mark eqch. . e Phoice (MCQ) Dpe
. n B — Questions no. 13 to 18 are Short A
w) In Sectio . “SWer (SA) type question
( carrying 2 maTkS each. Answers to these questions shoy;g not )engedq50 words;
each. : |
)  In Section C —k QueS}ilons no. 19 to 23 are Lfmg An'swer,(LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
. each. ' ,
i) In Section D - Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions. | B
(vit) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
" carrying 6 marks each. Answers to these questions should not exceed 170 words
each. : o :
(viii). There is no overall choice in the question paper. However, an internal choice
: n.D |
has been provided in few questions. Only one of the choices in such questions
has to be attempted. ' "
(1x)

In addition to this, separate instructions are given with each section and
question, wherever necessary. '

SECTION A

Questions no. 1 to 12 are Multiple Choice (MC’Q) type queSt?OnS, Ca”yingz_p
I mark eqch, ‘ | , : 12x1=12
L. -

Which of these statements about the political decisions taken after
Independence related to development are correct ?

@®  Almogt everyone agreed that the developme?n‘f Oii(};dla should
mean both economic growth and social-economic Juio bl.lsines'smen,
) 1 was also agreed that this matter cannot be left
! or industrialists and farmers. _ure growth with
(111) iny the g()vernment should p]ay a key role to en
'. e .. and get public
) Snpiare necessary to consult all political parties
Choog “Pbrova],
(2) e,t ® correct option : ’ o
o Dt ang g v O 6m 0
s ) ang i) @ @ p.T.O.
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: he follow; 5]
h one of b ing g . .
Ul 9 atements about the Second Five Year Plan 18
not correct - . ‘

raft
(a) Itwasd? ed by some leading industrialists
). Tt stressed on the development of heayy industries.

(C) ItS tlme pel‘iOd was 1956 i 6]..

d It wall'fed to bring about quick structural transforﬁation.

Which among the following is a threat to non-traditional security ?

(a) War

(b) Manufacturing of weapons

(c) Terrorism

(d) Internal disturbances

From the following staterﬁents about India’s Nuclear Policy, choose the

correct statement(s) : SEL
(1) India’s nuclear progx:amﬁle was started in the late 1940s.
uclear weapons and pleaded with the

(i) Nehru was against 1 4
' ehensive nuclear disarmament.

superpowers for comP¥
' f the NPT at the time of its adoption but its

(iii)) India . gupport © ' !
indeﬁ:T : 1zpani‘ion plan forced India to change its stand.
ite e ;

Choose the correct option *
(a) () and (ii)
b  Only @)
©  Only Gii)
@ ), i) and (i)
59/4/2
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Two statements 27 EIVeN belgy, o \esorti ther
e lab ; Ass A) and the oth®
Jabelled as Reason (R). Reaq thoss skt abelled as Assertion (A) an O ect

eiments carefully and choose the €O
a), (b), (c) and (d) given below.
became very bureaucratic and
life very difficult for its citizens.

option as the anSWer from the options (

Assertion (A) The SOViet system
authoritarian, making

. The Sovi -
Reason (R) . World \;’\;:n.Umon became g great power after the Secqnd

(a) Both Assertion ('A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A). '

(¢)  Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

Two statements are given below — one labelled as Assertion (A) and the other
labelled as Rea/son (R). Read these statements carefully andv choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : There .was a large-scale migration of refugees into India
' “during the 1971 war with Pakistan. o
Reason (R):- Pakistan had planned the migration to disturb the Indian.

. ‘economy. s ) e t ' S ®) i th'
. : nd Reason (R) are true and Reason . (R) is the
(a) Both Assertion (A) 2 ¢ the Assertion (A). . . -

correct explanation by ) | .
; \ and Reason (R) are true, but Reason (R) is not
(b)  Both Assertion (A) a7 ¢ the Assertion (A).

the correct explanation % = : .
(©  Assertion (A) is true, but Reason ((l%fg)l:issft'qll}lslz. |
(d)  Assertion (A) is false, but Feasor ¥ ot .
Whi ; aid an official visit to India in 1956
b ich I(;I)hlnérse ;eader P (b).  Zhao Ziyang
ua Guofeng . ~(d) LiPeng
(¢©)  Zhou Enlai

Arrange the following in ch

@ Splitin Congress party py Indira Gandhi

(i) Imposition of Emerg?n: Y
5% : L onN . . X,
((111\3 ilfth General li'lizglgahadur Shastri as Prime Minister
PPOIntment o

ronological order :

Choose the C()rrect Option : (b) (ii)) (iV),‘ (i), (iii)
((a; (), Gv), (ij) (iii) @ (), (), Gid), (i)
C 2

(i), (11) (323 s .
S D), (iii), (iv) page 7 of 23
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10.

11.

12,

] —

Whi followi .-
ich of the N8 statey, GE
correct ? ®nts about the ‘Arab Spring’ are not

(i) It began in 2008,

(i1) The struggle was agalnSt terror1sm and poll ti
ution.

(iii) It raised its voice againgt corruption and unemployment.
. o
(1y) It was basically a demangq for democ ’ ¥
racy.’

Select the correct option :

“(a)  (ii) and (iv) only

(b)  (iii) and (iv) only
(c) (i) and (ii) only
(d) (@) and (iii) only

A process of exchanging 1nf0rmat10n on defence matters between nations
on a regular basis is knownas____ - ;
(a) Confidence-Building Measures

(b) Arms Control

(c) Alliance

(d) Disarmament 3

Who b the Pri me. Minister of India after the death of Jawaharlg]
o became the |

Nehru in 1964 ?

(a) Jagjivan Ram

(b)  Morarjl Desai

(c) Indira Gandhi

(d) Lal Bahadur Shastri

e o0 ntries is not a member of SAARC ?
Which one of the followl
(a) India -
(o) Nepal
(¢)  SriLanka |
(d) China ey aqe 9 of 23
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SECTION B
13.  Give any two arguments €0 JUstify Ingizg policy of Non-alignment. 2x1=2
14. Highlight any two functions of UNICREF which make it a significant part
of the United Nations. ' - 9x1=2
15. Suggest any two measures to strengthen India’s traditional security. ax1=2
16. Explain any two reasons for the victory of Congress in the Southern
States in the general election of 1977. 2x1=2
17. Evaluate any two functions of NITI Aayog. 2x1=2
18. Why is it necessary for coalition governments to accommodate and
 aggregate variety of interests ? Expiain. ‘ 2
SECTION C
19. “India’s 1mpresswe technolog‘lcal growth in recent years has made the
” S rt the stat
country an att ra ctive partnel' of US. uppo e statement giving any |
4dx 1=
four examples. o } X 1=4
_ - .. of the recent years in J
20. Analyse any two developme? 4 v ammu  and
‘Kashmir. . 2x2=4
.. from nation-states to global ¢ »
21. “Globalisation has shifted poWe” suments onsumers, |
. o ar; .
Support the statement with tW 2x9- 4
7 Name any four countries th
22,  What is meant by Veto Power at enjoy Veto
power. ' | 2494 y
g which led to the mid-te .
23. Examine any two main reaso” . ' electiop
. India in 1980. 1 of 23 %o
59/4/2 page 110 =g
. B
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SECTION p

In the given political outline map of Indja (on page 15), four Stateg

have been marked as @, ®. © and @. Identify these States on the

basis of information given below and write their correct names in yoy;

answer-

book along with the respective seria] number of the information

used and the concerned alphabets given in the map as per the following

format :

(i)
(i1)

(iii)

(iv)

59/4/2

4x]

The State related to V.V. Giri, the former President of India.

The State related to the Congress leader, K. Kamarsaj.

The State from where the phrase

originated.

“Aya Ram, Gaya Ram”

The State which faced the most acute food crisis in 1965 — 1967

Sr. no. of the
information used

(i)

(ii)
— & o
(iii)

(iv)

L _____|

o e e |

—

Concerned alphabet
in the map

Page 14 of 23
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For question no. 24

km Scale 1:15000,000 km
100500 100 200 300 400 500
i et ———
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Outline Map of India (Political)




Note :

(24.4)

25.

(24.2)

(24.3)

(i)

59/4/2

(ii)

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24. ‘

(24.1)

[E{E
s
4)(1:4

Name the State related to the former President of India, V.V.
Giri.

Name the State to which the Congress leader K. Kamaraj
belonged.

Name the State from where the famous phrase,

“Aya Ram, Gaya
Ram” originated.

Which State faced the most acute food crisis in 1965 — 67 ?

Study the given picture and answer the questions that follow : ‘ 4x1=4

The given picture belongs t0 which one of the fOHOWing COUntrigg 9
| TS ()  Nepal
(a) Myanmar pa

. @ SrL
(¢0  Bangladesh | I1 Lankg

The memorial shown in the picture 18 located at Which One of the

following places ? ‘ N

' ' aleutta Upg,

(a)  Shantiniketan : D a Uaners
ak .

(c)  Burma University a Uniyg,

Page 17 of 23
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(ii)  When did the incident related to the picture happen ?
(a) 1950 (b) 1975
(c) 1982 (d) 1987

(iv)

Which military ruler was the cauge for this memorial ?
(a)  General Musharraf

(b) Lt.General H.M. Ershad
() Ziaur Rahman :

(d) Zia-ul-Haq
Note: The following questions are for the Visually

Impaired Candidates
only, in lieu of Q. No. 25.

dx1=4

(25.1) Which country is Bhutan’s biggéét source of developmental aid ?

- () UsA e (b) Russia
(0 India (@ . China
(25.2) A landlocked country of South Asia is :
(a) Maldives (b)  Bangladesh
(¢) Nepal (@ Pakistan

(25.3) In East Pakistan, the popﬁlaf struggle against the dominat; s
West Pakistan was led by which one of the following leagers ?

(a) Sheikh Mujibur Rahmaﬁ
(b) Sheikh Mujib Mohammed
(¢) General Yahya khan I
(d) Lt. General HM. Ershald
(25.4) The Seven Party Alliance is related to which country 9
(b) Nepal

(a) Bhutan |
(d) Pakistan

(e) India

} e 19 of 23
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26.

(c)_ Bengal

Jammu apg Kashmir

(i)  Which one of the following Princely States wag the firgt to

d not to joip the Uniop of
India ? |

(d)
: ed?

(ii})  Why wag the Muslim League form
(a)

. heory’
To propose ‘two.nation t

. med Pakistan

(b)  To form a new pation 72 f Pakistan
p1tion O

(0 To Prepare the constltutl

t
() To protect the interes

1 of 23
page 2
99/4/2
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(iv)
27. (a)
(b)
28. (a)
(b)
29. (a)
(b)

(b).

59/4/2 .

What was the stand of the T
partition ?

(&) It was against partitioq
(b) ‘
(c)
(d)

It wanted peace, harmony 4nq equality of religion.
It wanted India to become 4 Hindu nation.

It was in favour of treating people on religious basis.

politics.
OR

Highlight any three international_ environmental movements and

their importance. 3IxX2=6

Evaluate the role of ASEAN in the contemporary _World, : 6
o ' : |

“In spite of the improvement in the Chinese economy, not everyone

in China has received the benefits of économic reforpg

]

" Support
the statement with three arglllm'ents' 3X2=¢
Analyse the objectives of the “Operation Irag; Freedom” and itg
outcomes. ' 3+3=¢
OR :
Analyse any three consequences (_)f the collapse of ‘the Soviet
Union. ‘ : 3x2=é
Highlight r:any three major developments that took pPlace iy Indiap,
politi-cs during NDA IIT and NDA IV. | 3% 256
OR b :

Highlight any three points of conserll{sgs that emergeq Among g4
Political parties in India after the Lok Sabha Blections, 9004

3x2<
page 23 of 23 =i



